PERMIT APPLICATION / MANUFACTURED HOME INSTALLATION APPLICATION

For Office Use Only	(Revised 7-1-15)	Zoning Official	Building Official	
AF#	Date Receiv	edBy	Permit #	
1 lood zone De	velopment Permit	Zoning	Land Use Plan Map Category	
Comments				
FEMA Map#	Elevation	Finished Floor	RiverIn Floodway	
☐ Recorded Deed or ☐ F	Property Appraiser P	O □ Site Plan □ EH#	□ Well letter OR	
□ Existing well □ Land	Owner Affidavit	Installer Authorization	□ FW Comp. letter □ App Fee Paid	
□ DOT Approval □ Pare	nt Parcel #	STUP-MH	□ 911 App	
□ Ellisville Water Sys	□ Assessment	□ Out County □	In County □ Sub VF Form	
Property ID # 14-4S-17-	08344-003	Subdivision NA	Lot#_	
 New Mobile Home V⁶ 	es llead	Mobile Hama No	MH Size 32x76 Year 2021	
		Mobile Home	MH Size 32x76Year 2021	
 Applicant Jennifer Kl 		Phor	ne #_850-296-5113	
 Address 16082 Heat 	herwood Ct. Tallah	nasssee, FL 32309		
Name of Property Ov	wner Jessic	a Campbell	Phone# 386.918.671	. 5
911 Address	3D	SC LA MIDSCII	-Houe# 340, 1112,010	0 (
 Circle the correct por 	wer company -	FL Power & Light	- Clay Electric	
	(Circle One) -	Suwannee Valley Electri		
N 55				
Name of Owner of Mo	obile Home <u>0</u> 8	ssica l'ampbell	Phone #_386-963-6267	
Address TBD SE Cou	inty Rd 245			
Relationship to Prope	erty Owner			
Current Number of D	wellings on Proper	rty (
Lot Size 79 acres	<u> </u>		2070.0	
		Total Acreage 79 a		
Do you : Have Existin	y using) or Private (Blue Road	Drive or need Culvert Pe	rmit or <u>Culvert Waiver</u> (Circle or	ıe)
	(2.30 / 1840)	ng Mobile Home_New, no	, Caramana ad do not need a Culv	ert)
Driving Directions to		ing Mobile Hollie	t a replacement	-
Name of Licensed Dea	aler/Installer Moi	vins MoLilo Ham	05 Phone # 3810 . 423 . 22	NR
Installers Address	200 A	ountired 245	Lake City som	5
License Number	1025386	Installation	Decal #	2
				_

Mobile Home Permit Worksheet

			narriage wall piers within 2' of end of home per Rule 15C							longitudinal (use dark lines to show these locations)	Shov	Typical pier spacing Installer's initials	I understand Lateral Arm Systems cannot be used on any home (new or used) where the sidewall ties exceed 5 ft 4 in.	NOTE: if home is a single wide fill out one half of the blocking plan	Manufacturer LIV€ DOLC Length x width S2X76		nome	Installer: Polor A Nonopoly
TIEDOWN COMPONENTS Longitudinal Stabilizing Device (LSD) Manufacturer Longitudinal Stabilizing Device w/ Lateral Arms Manufacturer	Opening Pier pad size	List all marriage wall openings greater than 4 foot and their pier pad sizes below.	Draw the approximate locations of marriage wall openings 4 foot or greater. Use this symbol to show the piers.	Other pier pad sizes (required by the mfg.)	Perimeter pier pad size	I-beam pier pad size リスメン	PIER PAD SIZES	psf 8'	8 6	psf	psf 3	Load Footer bearing size capacity (sq in) (256) 18 1/2" x 18	PIER SPACING TABLE	Triple/Quad	Double wide Installation Decal #	Single wide	Home installed to the Manufacturer's Installation Home is installed in accordance with Rule 15-C	New Home Used Home
1 Arms		14 foot	of marriage Use this		5	n	·		ω ω <u></u>	∞_√1	ΩĪ	20" x 20" (400)	FOR US		al #	Q	allation e 15-C	

Application Number: lation Manual 15-C Wind Zone III Date:

R USED HOMES

22" x 22" (484)*

24" X 24" (576)*

26" x 26" (676)

	7			
	O	σ	7'	ω
	7'	ω_	œ	œ.
	ω	∞_	ω_	ω (
	œ	∞_	ω_	Ω (
	Ω.	∞_	ω_	ω
	ω_	œ	ω	200
ing table.	.*			0
		POPU	POPULAR PAD SIZES	SIZES
XXX	n	Pad	d Size	Sq In
7		16	16 x 16	256
XX	5	16	6 x 18	288
		18.5 x	١,	342
		16 ×	x 22.5	360
			× 22	374
	•	13 1/4	1 x 26 1/4	348
ons or	ions of marriage	20) x 20	400
iter. Us	Use this	1/3/16	x 25 3/16	441
		17 1/2	× 25 1/2	446
	•	24	× 24	576
ter than	ter than 4 foot	26	× 26	676

within 2' of end of home spaced at 5' 4" oc FRAME TIES 4 ft

5 ft

ANCHORS

Sidewall
Longitudinal
Marriage wall
Shearwall OTHER TIES

Number 0

Mobile Home Permit Worksheet

Connect all potable water supply piping to an existing water meter, water tap, or other independent water supply systems. Pg.	Connect all sewer drains to an existing sewer tap or septic tank. Pg.		Connect electrical conductors between multi-wide units, but not to the main power source. This includes the bonding wire between mult-wide units. Pa	Electrical	Installer Name ROSEL SMAPPLE Date Tested S 3 3 3 1	ALL TESTS MIST BE DEDECOMED BY A LOSS OF THE STATE OF THE	anchors are allowed at the sidewall locations. I understand 5 ft anchors are required at all centerline tie points where the torque test reading is 275 or less and where the mobile home manufacturer may requires anchors with 4000 lb holding capacity.	Note: A state approved lateral arm system is being used and 4 ft	TORQUE PROBE TEST The results of the torque probe test is sinch pounds or check here if you are declaring 5' anchors without testing. A test showing 275 inch pounds or less will require 5 foot anchors.	xTZGG XTZGG XTZGG	 Using 500 lb. increments, take the lowest reading and round down to that increment. 	 Test the perimeter of the home at 6 locations. Take the reading at the depth of the footer. 	POCKET PENETROMETER TESTING METHOD	× 1500 ×	The pocket penetrometer tests are rounded down to SCO psf or check here to declare 1000 lb. soil without testing.	POCKET PENETROMETER TEST	
Installer Signature 1664 Bullet Date 3/2//2	manufacturer's installation instructions and or Rule 15C-1 & 2	Installer verifies all information given with this permit worksheet is accurate and true based on the			Skirting to be installed. Yes No Dryer vent installed outside of skirting. Yes N/A Range downflow vent installed outside of skirting. Yes N/A Drain lines supported at 4 foot intervals. Yes Electrical crossovers protected. Yes Other:	Miscellaneous	The bottomboard will be repaired and/or taped. Yes Pg. Siding on units is installed to manufacturer's specifications. Yes Fireplace chimney installed so as not to allow intrusion of rain water. Yes	Weatherproofing	Type gasket FOOW Installed: Pg. Between Floors Yes Between Walls Yes Bottom of ridgebeam Yes	nomes and that condensation, mold, meldew and buckled marriage walls are a result of a poorly installed or no gasket being installed. I understand a strip of tape will not serve as a gasket. Installer's initials	Gasket (weatherproofing requirement) I understand a properly installed gasket is a requirement of all new and used	wide, garoof and sides of the	Type Type	Fastening multi wide units	Debris and organic material removed Water drainage: Natural Swale S Pad Other	Site Preparation	Application Number:Date:



COLUMBIA COUNTY BUILDING DEPARTMENT 135 NE Hernando Ave, Suite B-21, Lake City, FL 32055

Phone: 386-758-1008 Fax: 386-758-2160

MOBILE HOME INSTALLERS AGENT AUTHORIZATION

I, KOSPA SWEMI	yel ,give this authorit	y and I do certify that the below
referenced person(s) listed on	this form is/are under my direct	Supervision and control and
is/are authorized to purchase p	ermits, call for inspections and s	sign on my behalf.
Printed Name of Authorized Person	Signature of Authorized Person	Agents Company Name
Jennifor Kine	Min	NA
	/	
I, the license holder, realize that	I am responsible for all permits	purchased, and all work done
under my license and I am fully Local Ordinances.	responsible for compliance with	all Florida Statutes, Codes, and
I understand that the State Licer holder for violations committed be document and that I have full res	y him/her or by his/her authoriz	ed person(s) through this
License Holders Signature (Nota	rized) 1H1C)25386 <u>5/4/21</u> umber Date
NOTARY INFORMATION: STATE OF:Florida	COUNTY OF: L-PO1	
The above license holder, whose personally appeared before me a (type of I.D.)	name is Robert Shand is known by me or has produ	epolyel uced identification of Muse, 20 2 (
NOTARY'S SIGNATURE	(3	Seal/Stamp)
· vaunam		
	JENNIFER KLINE	

EXPIRES: November 19, 2023 Bonded Thru Notary Public Underwriters



STATE OF FLORIDA DEPARTMENT OF HEALTH ONSITE SEWAGE TREATMENT AND DISPOSAL SYSTEM APPLICATION FOR CONSTRUCTION PERMIT

PPLICATION FOR: New System [] Existing System [] Holding Tank [] Innovative Repair [] Abandonment [] Temporary []
APPLICANT: Tevis Gay
AGENT: ROCKY FORD, A & B CONSTRUCTION TELEPHONE: 386-497-2311
MAILING ADDRESS: 546 SW Dortch Street, FT. WHITE, FL, 32038
TO BE COMPLETED BY APPLICANT OR APPLICANT'S AUTHORIZED AGENT. SYSTEMS MUST BE CONSTRUCTED BY A PERSON LICENSED PURSUANT TO 489.105(3)(m) OR 489.552, FLORIDA STATUTES. IT IS THE APPLICANT'S RESPONSIBILITY TO PROVIDE DOCUMENTATION OF THE DATE THE LOT WAS CREATED OR PLATTED (MM/DD/YY) IF REQUESTING CONSIDERATION OF STATUTORY GRANDFATHER PROVISIONS.
PROPERTY INFORMATION
LOT: NA BLOCK: NA SUB: NA PLATTED:
PROPERTY ID #: 14-4S-17-08344-002 ZONING: I/M OR EQUIVALENT: [Y / N]
PROPERTY SIZE: 79.68 ACRES WATER SUPPLY: [$$] PRIVATE PUBLIC []<=2000GPD []>2000GPD
is sewer available as per 381.0065, fs? [Y / 🖸] DISTANCE TO SEWER: NA ft
PROPERTY ADDRESS: SE County Road 245, Lake City, Fl
Slight night onto FL-100E, TR onto SE CR 245
BUILDING INFORMATION [] RESIDENTIAL [] COMMERCIAL
Unit Type of No. of Building Commercial/Institutional System Design No Establishment Bedrooms Area Sqft Table 1, Chapter 64E-6, FAC
1 SF Residential 4 2132
3
[] Floor/Equipment Drains [] Other (Specify)
SIGNATURE: Willian O. Bishop II DATE: 4/6/2021

STATE OF FLORIDA DEPARTMENT OF HEALTH

APPLICATION FOR ONSITE SEWAGE DISPOSAL SYSTEM CONSTRUCTION PERMIT

AFFLICATION	Permit Ar	pplication Number 31-6347
Gay (Car	m nho ()	
Scale: 1 inch = 40 feet.	well	
TN	110	
	30, 00 00 11,00	SE County Road 245
Notes:		
1 acre c	of 79.68	
Site Dien submitted h	Willia D. Bishop II	MACTER CONTRACTOR
Site Plan submitted by: Plan Approved	Not Approved	MASTER CONTRACTOR
ByKull		County Health Department
	0	

ALL CHANGES MUST BE APPROVED BY THE COUNTY HEALTH DEPARTMENT

MOBILE HOME INSTALLATION SUBCONTRACTOR VERIFICATION FORM

APPLICATION NUI	MBERCAMPOUL CONTRACTOR Shappard PHONE
	7920
	THIS FORM MUST BE SUBMITTED PRIOR TO THE ISSUANCE OF A PERMIT
records of the Ordinance 89-	ounty one permit will cover all trades doing work at the permitted site. It is <u>REQUIRED</u> that we have subcontractors who actually did the trade specific work under the permit. Per Florida Statute 440 and 6, a contractor shall require all subcontractors to provide evidence of workers' compensation or neral liability insurance and a valid Certificate of Competency license in Columbia County.
	, and the second of the second
	the permitted contractor is responsible for the corrected form being submitted to this office prior to the ubcontractor beginning any work. Violations will result in stop work orders and/or fines.
ELECTRICAL	Print Name Jessica Brinkley-Campson Signature Signature Phone #:
	Qualifier Form Attached
MECHANICAL/	Print Name <u>Jessica Brinkley-Canosen</u> Signature Signature Phone #:
	Qualifier Form Attached
	Building permits; identification of minimum premium policyEvery employer shall, as a condition to
	nd receiving a building permit, show proof and certify to the permit issuer that it has secured for its employees under this chapter as provided in ss. 440.10 and 440.38, and shall be presented each
	oyer applies for a building permit.
386-31	165-5562 352-219-7535 163-6767
36345	SE County Rd 245